Dawson College: Calculus ITI: 201-BZF-05 S01 September 24, 2014
Last Name: Sparofie~SS

First Name:

Student ID:

Test 1

Question 1. (5 marks) Use the Monotonic Sequence Theorem to show that the following se-
quence converges
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Question 2. Determine if the following series converge or diverge.
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Question 3. Find the sum of each of the following series if they converge.
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Question 4. (7 marks) Find the interval and Radius of convergence of the following power series.
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Question 5. (5 marks) Determine if the following series is absolutely convergent, conditionally
convergent or divergent.
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Question 6.

a) (5 marks) Find a power series representation for f(x) = x? arctanx. State the radius of conver-

gence of this series.
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Use the fact arctan(0) = O to find the constant of integration.
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b) (5 marks) Use part a) to approximate f(0.2) = 0.04arctan(0.2) to with [Error| < 10~7. Can we

use part a) to approximate f(2.2)? Why or why not?
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